
Subject: "ALOG2" (lame question)
Posted by Amara.Graps on Sat, 03 Apr 1999 08:00:00 GMT
View Forum Message <> Reply to Message

Thanks everyone for the simple math lesson. Now that
I know the answer, I'm embarassed by my lame question.

(I really did try to find a solution to convert
between bases using natural logs, but I became twisted 
in circles, and decided  to solve it the brute force 
approach.)

See, I knew there had to be a more elegant answer ...

Amara
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        "Never fight an inanimate object." - P. J. O'Rourke
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